Hillier, Corporate Finance Fundamentals- Errata.

Chapter 4

· P107- Q13 should say 2041 and not 2040
Chapter 5

· P116: Equation 5.1, halfway down page, after "Annuity Factor = C" the "C" should be followed by a multiplication sign (as in the next lines of the formula) rather than the "/" currently appearing.
· P118: "spreadsheet strategies" - formula used should be "=PV(B3,B2,-B1)"
· P127: halfway down, "2.71828" should be to the power .10
· P141: Q53: Question should say "QR" instead of "APR"
· P142: Q63: Should read: Two banks in the area offer 30-year, £240,000 mortgages at 6.8 per cent quoted rate and charge a £2,300 loan application fee. However, the application fee charged by Insecurity Bank and Trust is refundable if the loan application is denied, whereas that charged by I.M. Greedy and Sons Mortgage Bank is not. The current disclosure law requires that any fees that will be refunded if the applicant is rejected be included in calculating the APR, but this is not required with nonrefundable fees (presumably because refundable fees are part of the loan rather than a fee). What are the APRs on these two loans?
Chapter 6

· P178: Q6: the issue price should read “€999.70” instead of “€9,997”
Chapter 8

· P226: Table at the top: Investment B must be +100 in year 0 NOT -100

· P230: Example 8.8- last equation: Denominators in the Numerator of PI should be 1+r NOT 1+IRR. Otherwise the PI is always 1 and not, as printed, 1.50

Should look like this:
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· P238: Question 10: The Year 0 Cash Flow of -19,500 is missing.

Chapter 10

· P308: Question 10- the accounting break-even quantity should be 15,500, not 17,500.
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